
Q.1 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है जैसे दूसरा पद पहले पद से संबंिधत है
।

UPRIGHT: PUVEKTH :: DESTROY : ?

Ans 1. EDWWUY

2. EDPXNYO

3. EDWPVYO

4. DEWPVOY

Question ID : 65497844386

Status : Answered

Chosen Option : 3

Q.2 एक िनिʮत कूट भाषा मŐ, ‘PARK’ को ‘3749’ के ŝप मŐ कूटबȠ िकया जाता है, और ‘RACE’ को
‘4762’ के ŝप मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ ‘CARE’ को कैसे कूटबȠ िकया जाएगा?

Ans 1. 6724

2. 6742

3. 7642

4. 7624

Question ID : 65497842873

Status : Answered

Chosen Option : 2

Q.3 सात िमũ सुभी, िŮंस, केतन, िवशाल, मिहमा, कृष और नैितक, एक गोल मेज के पįरत:, इसके कŐ ū की
ओर अपनी पीठ करके बैठे हœ। सुभी, िŮंस की दायी ंओर ठीक बगल मŐ बैठी है। नैितकऔर कृष िवशाल
की बायी ं या दायी ंओर ठीक बगल मŐ नही ं बैठे हœ। िवशाल, िŮंस के बायŐ तीसरे ̾थान पर बैठा है। मिहमा,
िवशाल की दायी ंओर ठीक बगल मŐ बैठी है। िŮंस की दायी ंओर तीसरे ̾थान पर कौन बैठा है?

Ans 1. नैितक

2. केतन

3. मिहमा

4. कृष

Question ID : 65497842574

Status : Answered

Chosen Option : 4
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Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842587

Status : Answered

Chosen Option : 3



Q.5 िकसी िनिʮत कूट भाषा मŐ, 'so it be' को 'lor kor nor' के ŝप मŐ िलखा जाता है, 'it is done' को 'zor
kor tor' के ŝप मŐ िलखा जाता है, और 'be yourself' को 'nor xor' िलखा जाता है। उसी भाषा मŐ 'so'
को कैसे िलखा जाएगा?

Ans 1. xor

2. nor

3. lor

4. kor

Question ID : 65497843985

Status : Answered

Chosen Option : 3

Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842891

Status : Answered

Chosen Option : 2



Q.7 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुिनए जो िनɻिलİखत Şंखला मŐ Ůʲवाचक िचɎ (?) के
̾थान पर आ सकता है।

FCC, UFH, OIS, LLX, FOC, ?

Ans 1. URH

2. VSG

3. WTH

4. TRF

Question ID : 65497842666

Status : Answered

Chosen Option : 1

Q.8 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िचɎ (?) के ̾थान पर आ
सकती है।

28, 32, 41, 57, ?

Ans 1. 82

2. 74

3. 68

4. 90

Question ID : 65497842678

Status : Answered

Chosen Option : 1



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842584

Status : Answered

Chosen Option : 1

Q.10 अƗरो ं के उस संयोजन का चयन करŐ िजसे नीचे दी गई Şंखला के įरƅ ̾थानो ं मŐ Ţिमक ŝप से रखे
जाने पर वह Şंखला को पूणŊ करेगा।

j _ m b _ a _ _ u _ b _ a d j _ m _ b _ d

Ans 1. u b d j m b j b a

2. u b m j m b u b a

3. u b d j m b u m a

4. u b d j m b u b a

Question ID : 65497844638

Status : Answered

Chosen Option : 4



Q.11 िदए गए चार अƗर-समूहो ं मŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस असंगत
अƗर-समूह का चयन करŐ।

Ans 1. CJQY

2. HOVC

3. MTAH

4. DKRY

Question ID : 65497843981

Status : Answered

Chosen Option : 1

Q.12 गिणतीय िचɎों के उस सही संयोजन का चयन करŐ जो * िचɎों को Ţिमक ŝप से बदलते Šए िदए गए
समीकरण को संतुिलत बना सके।

88 * 120 * 42 * 240 * 48 * 2

Ans 1. ×, ÷, =, –, +

2. =, –, +, ÷, ×

3. +, ÷, –, =, ×

4. =, ×, +, ÷, –

Question ID : 65497842683

Status : Answered

Chosen Option : 2

Q.13 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो िच˥ो ं को आपस मŐ बदलने की आवʴकता
है?

23 + 84 ÷ 14 × 8 - 3 = 5

Ans 1. - और +

2. - और ×

3. ÷ और −

4. + और ×

Question ID : 65497842581

Status : Answered

Chosen Option : 2

Q.14

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844407

Status : Answered

Chosen Option : 1



Q.15 एक पįरवार मŐ सात सद˟ B, C, D, E, F, G और H हœ। H, D की इकलौती बš है। E, C की बहन है। C
उस F का इकलौता पुũ है, जो िक D की पȉी है। H के पुũ B और G हœ। G का F से ̋या संबंध है?

Ans 1. िपता

2. भाई

3. पोता

4. बेटा

Question ID : 65497842573

Status : Not Answered

Chosen Option : --

Q.16 पाँच बƛो ंA B C D और E मŐ से B, A से तीन गुना भारी है। C, E से 40 kg भारी है। D, E से साढ़े तीन
गुना भारी है और C, A से पाँच गुना भारी है। E का वजन 40 kg है। इनमŐ से कौन सा सबसे हʋा है
और उसका भार िकतना है?

Ans 1. D 125 kg

2. B 50 kg

3. B 12 kg

4. A 16 kg

Question ID : 65497844397

Status : Not Answered

Chosen Option : --

Q.17

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844000

Status : Answered

Chosen Option : 3



Q.18 एक िनिʮत कूट भाषा मŐ, 'TANKER' को 'VCPMGT' के ŝप मŐ िलखा जाता है, उसी कूट भाषा मŐ,
'SOCRATES' को िकस ŝप मŐ िलखा जाएगा?

Ans 1. UQETCVGU

2. UQGTCVHU

3. UQFTCVHU

4. UQETCWGU

Question ID : 65497844635

Status : Answered

Chosen Option : 1

Q.19 वह िवकʙ चुनŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा, पहली संƥा से
संबंिधत है और छठी संƥा, पाँचवी ं संƥा से संबंिधत है।

3 : 17 :: 6: ? :: 9 : 47

Ans 1. 38

2. 34

3. 32

4. 36

Question ID : 65497842881

Status : Answered

Chosen Option : 3

Q.20 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

82, 105, 136, 177, 224, 283, ?

Ans 1. 349

2. 412

3. 350

4. 320

Question ID : 65497843990

Status : Answered

Chosen Option : 1

Q.21 उस सही िवकʙ का चयन करŐ जो िदए गए शɨों को तािकŊ क और अथŊपूणŊ Ţम मŐ ʩवİ̾थत करता है।

1. अȯाय सूची
2. Ťंथ सूची
3. Ůˑावना
4.आवरण पृʿ
5. अȯाय

Ans 1. 3, 5, 4, 2, 1

2. 4, 5, 3, 1, 2

3. 4, 3, 1, 5, 2

4. 2, 5, 1, 4, 3

Question ID : 65497843677

Status : Not Answered

Chosen Option : --



Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842886

Status : Not Answered

Chosen Option : --



Q.23 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गयी जानकारी सȑ है,
भले ही यह सवŊǒान तȚों से िभɄ Ůतीत होती हो, आपको तय करना है िक िदए गए िनʺषŘ मŐ से कौन
सा/से कथनो ं का अनुसरण करता/करते है/हœ।

कथन:
1.सभी फूल, नीले हœ।
2.सभी नीले, सामान हœ।
3.कोई भी सामान, लाल नही ं है।

िनʺषŊ:
I.कोई भी लाल, फूल नही ं हœ।
II.कोई भी लाल, बस नही ं हœ।
III.कुछ सामान, फूल हœ।
IV.कुछ सामान, नीले हœ।

Ans 1. केवल िनʺषŊ I, II और IV अनुसरण करते हœ

2. केवल िनʺषŊ I, III और IV अनुसरण करते हœ

3. केवल िनʺषŊ I और III अनुसरण करते हœ

4. सभी िनʺषŊ I, II, III और IV अनुसरण करते हœ

Question ID : 65497842676

Status : Answered

Chosen Option : 4

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842686

Status : Answered

Chosen Option : 4

Q.25 िन̱नांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

18 24 19
7 8 9
8 11 14
17 ? 14

Ans 1. 15

2. 21

3. 38

4. 30

Question ID : 65497843994

Status : Answered

Chosen Option : 2

Section : General Awareness



Q.1 कैमेिलया साइनŐͤिसस (Camellia sinensis) ______ पैदा करने वाला एक पौधा है।
Ans 1. चाय

2. कॉफ़ी

3. गɄा

4. जूट

Question ID : 65497842703

Status : Answered

Chosen Option : 2

Q.2 िनɻिलİखत मŐ से कौन सा/से कथन सही है/हœ?

I- कनाŊटक भारत मŐ कॉफी का सबसे बड़ा उȋादक है।
II- अरेिबका कॉफी की एक िक˝ है।
III- शुŜआत मŐ मेİƛको से लाई गई अरेिबका िक˝का उȋादन भारत मŐ िकया जाता है।

Ans 1. केवल II और III

2. I, II और III

3. केवल III

4. केवल I और II

Question ID : 65497844017

Status : Answered

Chosen Option : 2

Q.3 िकस वषŊ मŐ भारत के सावŊजिनक ऋण का सकल घरेलू उȋाद से अनुपात įरकॉडŊ 84.2% हो गया था?
Ans 1. 2003

2. 1991

3. 2001

4. 1999

Question ID : 65497842594

Status : Answered

Chosen Option : 2

Q.4 िमस डेफ वʒŊ का İखताब जीतने वाली पहली भारतीय िनɻ मŐ से कौन हœ?
Ans 1. िविदशा बािलयान

2. अŜिणमा िसɎा

3. Ůीित ŵीिनवासन

4. राघवी शंकर

Question ID : 65497844427

Status : Answered

Chosen Option : 2



Q.5 7 अŮैल 2021 को भारतीय įरजवŊ बœक (RBI) की मौिūक नीित सिमित (MPC) Ȫारा दी गई रेपो दर Ɛा
है?

Ans 1. 2%

2. 5%

3. 3%

4. 4%

Question ID : 65497842895

Status : Answered

Chosen Option : 4

Q.6 िदसंबर 2020 मŐ, ______ लैब मŐ िवकिसत िचकेन उȋादो ं की िबŢी को मंजूरी देने वाला दुिनया का
पहला देश बन गया।

Ans 1. जापान

2. िसंगापुर

3. िवयतनाम

4. ताइवान

Question ID : 65497842607

Status : Answered

Chosen Option : 2

Q.7 िनɻिलİखत मŐ से कौन उपɊास 'Ɛू एंड ए (Q and A)' के लेखक हœ?
Ans 1. िवकास ˢŝप

2. जेएन दीिƗत

3. एमके रसगोũा

4. मुचकंुद दुबे

Question ID : 65497842911

Status : Answered

Chosen Option : 2

Q.8 मुगल बादशाह बाबर का पहला नामƐा था?
Ans 1. क़ासीमुȞीन

2. ज़हीŜȞीन

3. िगयासुȞीन

4. हसनुȞीन

Question ID : 65497844018

Status : Answered

Chosen Option : 2



Q.9 Ţांितकारी भगत िसंह की उŲ िकतनी थी(वषŘ मŐ), जब उɎŐ फांसी दी गई?

Ans 1. 30

2. 23

3. 20

4. 26

Question ID : 65497842909

Status : Answered

Chosen Option : 2

Q.10 िनɻिलİखत मŐ से िकस वषŊ मŐ भारत के राǛों के पुनगŊठन और उससे जुड़े मामलो ं के िलए अिधिनयम
पाįरत िकया गया था?

Ans 1. 1959

2. 1956

3. 1962

4. 1947

Question ID : 65497842913

Status : Answered

Chosen Option : 2

Q.11 िनɻिलİखत मŐ से कौन सा बौना Ťह मुƥ ƗुūŤह पेटी (main asteroid belt) मŐ İ̾थत है?

Ans 1. हौिमया (Haumea)

2. एरीस (Eris)

3. मेƏेक (Makemake)

4. सायरस (Ceres)

Question ID : 65497844010

Status : Answered

Chosen Option : 2

Q.12 िनɻिलİखत मŐ से कौन सा िनयम िनवाŊत या मुƅ ̾थान मŐ दो İ̾थर िबंदु आवेशो ं के बीच बल के िलए
ʩंजक को ʩुȋɄ करता है?

Ans 1. ले̢ज़ का िनयम

2. ओम का िनयम

3. गॉस का िनयम

4. कूलाम का िनयम

Question ID : 65497844416

Status : Answered

Chosen Option : 2



Q.13 अŮैल 2021 तक की İ̾थित के अनुसार, िनɻिलİखत मŐ से कौन टोƐो ओलंिपक 2021 के िलए अहŊता
हािसल करने वाला एकमाũ भारतीय लॉ̢ग जɼर (लंबी कूद का एथलीट) है?

Ans 1. िवरसा िसंह

2. ŵीशंकर मुरली

3. टीसी योहनन

4. संजय कुमार राय

Question ID : 65497842714

Status : Answered

Chosen Option : 2

Q.14 िनɻिलİखत मŐ से कौन से सतत िवकास लƙ (SDG) का उȞे̻य '̾थलीय पाįरİ̾थितक तंũ के सतत
उपयोग को संरिƗत, पुन̾थाŊिपत करना और बढ़ावा देना, जंगलो ं का ̾थायी Ůबंधन करना,
मŜ̾थलीकरण का मुकाबला करना, और भू-Ɨरण को रोकना और जैव िविवधता की हािन को रोकना'
है?

Ans 1. एसडीजी (SDG) 17

2. एसडीजी (SDG) 7

3. एसडीजी (SDG) 12

4. एसडीजी (SDG) 15

Question ID : 65497842900

Status : Answered

Chosen Option : 2

Q.15 िहंदू उȅरािधकार अिधिनयम, 1956 के िलए वषŊ ______ मŐ एक संशोधन पाįरत िकया गया था।
Ans 1. 2008

2. 2010

3. 2005

4. 2012

Question ID : 65497842611

Status : Answered

Chosen Option : 2

Q.16 िनɻिलİखत मŐ से कौन सा तȕ Ůकाश उȖजŊक डायोड संरचना के िनमाŊण के िलए उपयुƅ नही ं है?

Ans 1. इंिडयम गैिलयम नाइटŌ ाइड

2. जमőͤिनयम

3. गैिलयम फॉ˛ाइड

4. गैिलयम आसőनाइड

Question ID : 65497844418

Status : Answered

Chosen Option : 2



Q.17 उपरकोट बौȠ गुफाएं गुजरात के िकस शहर मŐ िमलŐगी?
Ans 1. वडोदरा

2. जूनागढ़

3. आनंद

4. भावनगर

Question ID : 65497842692

Status : Answered

Chosen Option : 2

Q.18 िकसी देश की अȑिधक कुशल, उǄ िशिƗत पेशेवर आबादी के एक बड़े भाग का बेहतर आिथŊक और
सामािजक अवसर के िलए दूसरे देशो ं मŐ ŮवासƐा कहलाता है?

Ans 1. बंद आबादी

2. Ůितभा पलायन

3. जनसांƥकीय संŢमण

4. वहन Ɨमता

Question ID : 65497842601

Status : Answered

Chosen Option : 2

Q.19 िनɻिलİखत मŐ से िकस Ţांितकारी को अलीपुर बम षडयंũ मामले मŐ अंŤेजो ं ने एकआरोपी के ŝप मŐ
िगरɞार िकया था?

Ans 1. कɎाई लाल दȅ

2. रोशन िसंह

3. राजŐū लािहड़ी

4. अशफाक उʟाह खान

Question ID : 65497842706

Status : Answered

Chosen Option : 2

Q.20 िनɻिलİखत मŐ से िकस मिहला पहलवान ने फरवरी 2021 मŐ यूŢेन कुʱी टूनाŊमŐट जीता?
Ans 1. साƗी मिलक

2. बबीता कुमारी

3. किवता देवी

4. िवनेश फोगाट

Question ID : 65497844432

Status : Answered

Chosen Option : 2



Q.21 भारत के संिवधान के िनɻिलİखत मŐ से िकस संशोधन ने गोवा को राǛ का दजाŊ िदया था?
Ans 1. 48वां संशोधन

2. 59वां संशोधन

3. 56वां संशोधन

4. 52वां संशोधन

Question ID : 65497844026

Status : Answered

Chosen Option : 2

Q.22 ______ का संबंध पेड़ की वृİȠ की िवशेषताओ,ं िवशेष ŝप से संवृİȠ वलय (growth rings) के
िवʶेषण Ȫारा िपछली जलवायु और जलवायुवीय घटनाओं के įरकॉडŊ बनाने से है।

Ans 1. ऐितहािसक- जलवायु िवǒान (Historical- climatology)

2. भू-जलवायु िवǒान (Geo climatology)

3. ūुम जलवायु िवǒान (Dendroclimatology)

4. जैव जलवायु िवǒान (Bioclimatology)

Question ID : 65497842696

Status : Answered

Chosen Option : 2

Q.23 आिथŊक सवőƗण, 2020 के अनुसार, वैिʷक सूची के शीषŊ 100 मŐ भारत के िकतने बœक हœ?
Ans 1. कोई नही ं

2. दो

3. एक

4. तीन

Question ID : 65497844411

Status : Answered

Chosen Option : 2

Q.24 भांगड़ा (भंगड़ा) नृȑ के संदभŊ मŐ 'भांगड़ा (भंगड़ा)' नाम िनɻिलİखत मŐ से िकस अंŤेजी शɨ से िलया
गया है?

Ans 1.  ̾टाइल (Style)

2. įरȧ (Rhythm)

3.  मूवमŐट (Movement)

4.  हे̱प (Hemp)

Question ID : 65497844004

Status : Answered

Chosen Option : 2



Q.25 िनɻिलİखत मŐ से कौन-सी ̾थायी ऊतक की िवशेषता है?

Ans 1. įरİƅकाएं अनुपİ̾थत होती हœ

2. कोिशकाएं बार-बार िवभािजत होती हœ

3. अकाबŊिनक समावेशन अनुपİ̾थत होते हœ

4. अंतरकोिशकीय अंतराल मौजूद होते हœ

Question ID : 65497842599

Status : Answered

Chosen Option : 2

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842627

Status : Answered

Chosen Option : 4

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843545

Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude



Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842928

Status : Answered

Chosen Option : 3

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844053

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842634

Status :
Not Attempted and
Marked For Review

Chosen Option : --



Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844435

Status : Answered

Chosen Option : 3

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844455

Status : Answered

Chosen Option : 3

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842925

Status : Answered

Chosen Option : 4



Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842624

Status : Answered

Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844434

Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842731

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842934

Status : Answered

Chosen Option : 4



Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844043

Status : Not Answered

Chosen Option : --

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842721

Status : Not Answered

Chosen Option : --

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844453

Status : Answered

Chosen Option : 1

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842931

Status : Answered

Chosen Option : 2



Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842621

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844037

Status : Answered

Chosen Option : 4

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842632

Status : Answered

Chosen Option : 3

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844653

Status : Answered

Chosen Option : 4



Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843141

Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842936

Status : Not Answered

Chosen Option : --

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842716

Status : Answered

Chosen Option : 4



Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844655

Status : Answered

Chosen Option : 1

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843528

Status : Answered

Chosen Option : 2

Q.1 Select the most appropriate synonym of the given word.

Inscrutable

Ans 1. Inevitable

2. Indelible

3. Inexplicable

4. Incredible

Question ID : 65497842960

Status : Answered

Chosen Option : 2

Section : English Comprehension



Q.2 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. The interest rates offered depends on the bank, deposit amount and the tenure you
choose.
B. It not only helps you to save money but also helps you to earn a substantial interest
on it.
C. One of the best ways to secure your money is by investing in fixed deposits.
D. Under the fixed deposit scheme, the depositor deposits the money only once at the
time of opening the account.

Ans 1. ADCB

2. ACBD

3. CABD

4. CDBA

Question ID : 65497844473

Status : Not Answered

Chosen Option : --

Q.3 Select the most appropriate option to fill in the blank.

Are you looking forward ______ Nikhil again?

Ans 1. to be seeing

2. to seeing

3. to see

4. seeing

Question ID : 65497842665

Status : Answered

Chosen Option : 2

Q.4 Select the most appropriate ANTONYM of the given word.

Prey

Ans 1. Loot

2. Sufferer

3. Game

4. Predator

Question ID : 65497842759

Status : Answered

Chosen Option : 2

Q.5 Select the option that expresses the given sentence in reported speech.

She said, “It is too good to be true.”

Ans 1. She said that it was too good to be true.

2. She said it were too good to be true.

3. She is saying that it is too good to be true.

4. She says that it is too good to be true.

Question ID : 65497844066

Status : Answered

Chosen Option : 1



Q.6 The following sentence has been divided into parts. One of them may contain a
grammatical error. Select the part that contains the error from the given options. If you
don’t find any error, mark ‘No error’ as your answer.

Antique diamond necklace / was stolen / from the museum.

Ans 1. was stolen

2. No error

3. from the museum

4. Antique diamond necklace

Question ID : 65497842338

Status : Answered

Chosen Option : 1

Q.7 Select the INCORRECTLY spelt word.

Ans 1. Hasten

2. Whitan

3. Enlighten

4. Brighten

Question ID : 65497842967

Status : Answered

Chosen Option : 2

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

This is / too grave sin / to be / pardoned.

Ans 1. This is

2. too grave sin

3. pardoned

4. to be

Question ID : 65497842945

Status : Answered

Chosen Option : 2

Q.9 Select the option that expresses the given sentence in passive voice.

He opened the door for his mother.

Ans 1. The door was open by him for his mother.

2. The door had been opened by him for his mother.

3. The door is opened by him for his mother.

4. The door was opened by him for his mother.

Question ID : 65497844462

Status : Answered

Chosen Option : 4



Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

Showing great attention to detail and correct behaviour

Ans 1. Disciplined

2. Punctilious

3. Punctual 

4. Zealous 

Question ID : 65497842663

Status : Answered

Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The investigation revealed that both of they had given false information to obtain
the certificates.

Ans 1. No substitution required

2. reveals that how they both

3. revealed that both of them

4. reveal that them both

Question ID : 65497844472

Status : Answered

Chosen Option : 4

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A fictional being from another world

Ans 1. Foreigner

2. Alien

3. Stranger

4. Native

Question ID : 65497842965

Status : Answered

Chosen Option : 2

Q.13 Select the most appropriate ANTONYM of the given word.

Optional

Ans 1. Elective

2. Arbitrary

3. Compulsory

4. Voluntary

Question ID : 65497844073

Status : Answered

Chosen Option : 3



Q.14 Select the correct active voice of the given sentence.

The poems of great English poets are being translated into other languages.

Ans 1. They were translating the poems of great English poets into other languages.

2. They translated the poems of great English poets into other languages.

3. They are translating the poems of great English poets into other languages.

4. They have translated the poems of great English poets into other languages.

Question ID : 65497842948

Status : Answered

Chosen Option : 3

Q.15 Select the most appropriate meaning of the given idiom.

On the wane

Ans 1. On the rise

2. On the way

3. On the top

4. On the decline

Question ID : 65497844075

Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate synonym of the given word.

FLUKE

Ans 1. Contract

2. Chance

3. Policy

4. Plan

Question ID : 65497844474

Status : Answered

Chosen Option : 2

Q.17 Select the most appropriate meaning of the given idiom.

A long shot

Ans 1. A perfect aim

2. Little chance of success

3. Very profitable

4. A correct prediction

Question ID : 65497842761

Status : Answered

Chosen Option : 3



Q.18 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

I have been wondering at taking skating as a hobby.

Ans 1. No improvement required

2. on taking to

3. about taking up

4. to take up

Question ID : 65497842754

Status : Answered

Chosen Option : 4

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

She persisted / to doing / what she wanted / despite opposition.

Ans 1. what she wanted

2. despite opposition

3. to doing

4. She persisted

Question ID : 65497844057

Status : Answered

Chosen Option : 3

Q.20 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The unseasonal rain/ caused a lot of damage/ to the crops.

Ans 1. No error

2. The unseasonal rain

3. to the crops

4. caused a lot of damage

Question ID : 65497843449

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1)__________ age, she displayed a
brilliant mind and a (2)__________ personality. Her great exuberance for learning
(3)___________ her to study further. However, she became (4)____________ when she
learned that the university was closed (5)___________ women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no. 1.

Ans 1.  infant

2.  early

3.  ignorant

4.  young

Question ID : 65497842647

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1)__________ age, she displayed a
brilliant mind and a (2)__________ personality. Her great exuberance for learning
(3)___________ her to study further. However, she became (4)____________ when she
learned that the university was closed (5)___________ women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans 1. bruised 

2. bloated

3. blithe 

4. brutal

Question ID : 65497842648

Status : Answered

Chosen Option : 3



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1)__________ age, she displayed a
brilliant mind and a (2)__________ personality. Her great exuberance for learning
(3)___________ her to study further. However, she became (4)____________ when she
learned that the university was closed (5)___________ women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans 1. proposed

2. prompted

3. promised

4. projected

Question ID : 65497842649

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1)__________ age, she displayed a
brilliant mind and a (2)__________ personality. Her great exuberance for learning
(3)___________ her to study further. However, she became (4)____________ when she
learned that the university was closed (5)___________ women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans 1. disfigured

2. dishevelled

3. disgruntled

4. distinguished

Question ID : 65497842650

Status : Answered

Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Marie was born in 1867 in Warsaw, Poland. At an (1)__________ age, she displayed a
brilliant mind and a (2)__________ personality. Her great exuberance for learning
(3)___________ her to study further. However, she became (4)____________ when she
learned that the university was closed (5)___________ women. Determined to receive a
higher education, she joined a French university.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 1. by

2. to

3. at

4. from

Question ID : 65497842651

Status : Answered

Chosen Option : 4


